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Five men are doing their best to lose weight. Find out the details about their diets and workout routines.

Shirt: blue, green, orange, red, white Workout: boxing, cycling, jumping rope, running, swimming
Name: Antonio, Brent, Eddie, Jaime, Maurice Diet: 1200 kcal, 1300 kcal, 1400 kcal, 1500 kcal, 1600 kcal
Weight: 200 lbs, 220 1bs, 240 Ibs, 260 Ibs, 280 1bs Age: 30 years, 35 years, 40 years, 45 years, 50 years
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The 35-year-old man is exactly to the left of the man The 30-year-old man eats 1400 kcal per day.

hoR 1 ight. e
who Runs o lose weight At the fourth position is the 40-year-old man.

Antonio is at the first position. The 220 1bs man Rides a bicycle to lose weight.

The youngest man is somewhere between the 220 lbs

. ) At one of the ends is the man that has the 1500 kcal
man and Jaime, in that order.

diet.
The lightest man is exactly to the right of the man that

eats 1400 keal per day. The man wearing the White shirt is somewhere

between the man who has the 1500 kcal diet and the
The man wearing the Orange shirt is somewhere to the man wearing the Blue shirt, in that order.

left of the man that Jumps rope to lose weight. At the fifth position is the oldest man.

Brent is at one of the ends. At one of the ends is the 240 lbs man.

The heaviest man is somewhere between the man that

. . Th i h hi 1400 kcal
eats 1500 kcal per day and Jaime, in that order. e man wearing the Green shirt eats 1400 keal per

day.
The man wearing the Orange shirt has the 1200 kcal

diet The 40-year-old man is exactly to the left of the man

that has the 1300 kcal diet.
ateit;st second position is the man who Runs to lose Eddie is next to the 45-year-old man.

. . The 260 b i tly to the left of th h
The man who has Boxing gloves is somewhere to the © S Man 15 exactly to the left of The man who

. . . eats 1200 kcal per day.
right of the man wearing the Green shirt. P ¥
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Five men are doing their best to lose weight. Find out the details about their diets and workout routines.

Shirt: blue, green, orange, red, white Workout: boxing, cycling, jumping rope, running, swimming
Diet: 1200 kcal, 1300 kcal, 1400 kcal, 1500 kcal, 1600 kcal

Age: 30 years, 35 years, 40 years, 45 years, 50 years

Name: Antonio, Brent, Eddie, Jaime, Maurice
Weight: 200 lbs, 220 1bs, 240 Ibs, 260 Ibs, 280 1bs
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The 35-year-old man is exactly to the left of the man
who Runs to lose weight.

Antonio is at the first position.

The youngest man is somewhere between the 220 lbs
man and Jaime, in that order.

The lightest man is exactly to the right of the man that
eats 1400 kcal per day.

The man wearing the Orange shirt is somewhere to the
left of the man that Jumps rope to lose weight.

Brent is at one of the ends.

The heaviest man is somewhere between the man that
eats 1500 kcal per day and Jaime, in that order.

The man wearing the Orange shirt has the 1200 kcal
diet.

At the second position is the man who Runs to lose
weight.

The man who has Boxing gloves is somewhere to the
right of the man wearing the Green shirt.

The 30-year-old man eats 1400 kcal per day.
At the fourth position is the 40-year-old man.
The 220 lbs man Rides a bicycle to lose weight.

At one of the ends is the man that has the 1500 kcal
diet.

The man wearing the White shirt is somewhere
between the man who has the 1500 kcal diet and the
man wearing the Blue shirt, in that order.

At the fifth position is the oldest man.
At one of the ends is the 240 lbs man.

The man wearing the Green shirt eats 1400 kcal per
day.

The 40-year-old man is exactly to the left of the man
that has the 1300 kcal diet.

Eddie is next to the 45-year-old man.

The 260 Ibs man is exactly to the left of the man who
eats 1200 kcal per day.
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